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Algebra 1
Review for Test — UNIT 2A

I. Solving & Justifying Linear Equations
#1 - 4: Solve each equation.
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#5 - 10: Write & solve an equation to represent each scenario.
5. Twice a nufber increased by eight is forty.
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7. Jagueline earns $15 perh_;_ﬁ_m s a math tutor on her college campus. In one week, she pays 12%
of her earnings in state and federal taxes. Her take-home pay for the week is $105.60. How many

hours did she work? \Bx — .2 (1S = 10T .LO J)( 6\(\ouv’J
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8. The difference of three times a number and ’rwe[ve is 72.

?. The sum of three consecutive in’regers is 105, What are the integers? M@
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Aer math class, Whitney has earned the following test grades for the semester: 87, 88, and 91.
JAat grade must she earn on the last test to earn a test average of a 90 for the semestere
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#11 - 14: Solve each equation for the indicated variable. Y= 4 "i
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Il. Slope & Graphing Linear Equations W = %
Graph the following equations. i __"L ﬂ = :‘_'2_( :ﬂ.
. . : . L
1.x=0 2.-6y =2x-24 3.4y + 4 = -6X l 4 Q{
™ R T 8 A
g N :
.
2 % “
T N
: ] ] \\
y - i ] s
. | ] -3 -
m= Vnd. b= TNF m= "% p=_HY m=""r - -\
- ‘ - e —
= - Zx Y Y=-Fx-|\
Find the slope of the following points, equdtions, tables, and graphs.
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Remember > pomi slope form: (y-y1) =m{ x x1)
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7. through { 1, 55, m : 8. (4-1)(54 =4+l . o . .
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Equation in point-siope: Equation in point-siope:

()0 (1) oy iy = sy

Equation in slope-int: fngupnﬂ (Z’J(> Equation in slope-int:
Ygrox-p - Yri= ~Su -7
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lll. Systems of Equaiionsw
Solve the system of equations by graphing and state the solution.
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_# each system of equations algebraically (use elimination),
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Write a system that could be used to solve each problem. Then, solve the system and answer the
question.

1. Caroline and Rachel are seliing flower bulbs for a school fundraiser. Customers can buy bags of
windflower bulbs and bags of daffodil bulbs. Caroline sold é bags of windflower bulbs and 12 bags
of daffodil bulbs for a total of $324. Rachel sold 6 bags of windflower buibs and 8 bags of daffodil
bulbs for a total of $244. What is the cost each of one bag of windflower bulbs and one bag of

daffodil bulbs? WA "'_’3”2'“! X H'L{w\) 5"_%‘2—‘-", o VU\MMQWMW
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12. A sold-out movie theater will seat 60 people. At a premiere, tickets were $8 for adults and $5 for
children. If the theater made $420 on premiere night, how many children bought a ticket?2

B %[X ™ ’;Lan 2x =10 20 e~
CrE4-470 - X= 140 \ | ¥

13. A boat fraveled downstream with the current at o speed of 48 meters per second. During the
trip back, traveling against the current, the boat fraveled at a speed of 32 meters per second.
What is the speed of the boat in still watere What is the speed of the current?
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4 Without graphing the equations, is the point (2, -1) the solution to the system 2

-~ y=—x+1

A - =253 -\ w2 4 - ;
Yo/ -1en “\ =l

{ys—Zx+32

15. Without graphing the inequalities, is the point {-1, 4) a solution to the system y<ax_3 "
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IV. Inequailities & Systems of Inequalities
Graph, then write the inequality in interval notation.

1. x> 4 U‘! | 2. x<-2 ]

Solve the inequality. Write the answer in inequality and interval notations and graph the solution.

5. 25x+7 6. 2(3-x)+8 210
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inequality Notation: >( Inequolih} No’rcﬂon X "L”
Interval Notation: _,p \> Interval Notation: j

7. Which of the following is a solution to 7 < -2{x + 4} — 3x?
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Is (O, -1} a solution?
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Graph the solution to the system of inequalities and name a possible solution.

Y <-2x+1

y=x-3
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Eé 13. Which system of equations is graphed on the right?

y=x+1
A. 1
y=§x—2
y=x-1
C. 1
y=§x+2
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f; Use the graph to the right to answer the following questions. g

y o A. Name 3 possible solutions to the system of inequalities.
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B. Name 3 points that are NOT solutions to the system. - j -
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C. Wirite the two inequaiities that are graphed in ¥ 2 2
slope-intercept form. -
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Q in her wallet that consists of $5 and $10 bilis. She has at most 14 bills in

15. Jordyn has at Ie%i% @

her wailet. Write d'system of inequalities that could be used to describe the scendrio. Then graph

on the coordinate plane.
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16. Which of these shows the correct graph of this system of inequalities? {
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Name one possible solution: (i, _&)
Write what this solution means in context:
410 Lihe ua by Wallet
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